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Which of the following is not fixed cost
of'a production unit?

i) “RoER
Salary of the manager

(i) pfes oM

Electricity meter

(i) ﬁg@amﬁa

Monthly bill of electricity

(iv) S = wga
Salary of permanent staff
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Primary condition of a firm’s
equilibrium is
fij MC = MR

(i) MC > MR
(i) MC < MR

(iv) MC #MR
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Which of the following conditions is
essential for consumer’s equilibrium
under indifference curve analysis?
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(i) MRS,y #2x
Py

(ifi) MRSy > %
Py

(i) MRS s
Py
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What do you mean by consumer’s
wurplus?
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